- E )
2 / / 77
o .
% KP HFHLIZE A7 x| £ 2], FAlkg
S| Aol g g JAEA (OF
Y il D | & [&] & |8 | & ! PP ol
(DN) | DE | 3184 A 2 S¥ | L¥ S¥ | L%
80 98 iy 1741 130 103.4 204 | 65| 90 [11.0( 24| 4.0 4.7
100 | 118 195 | 150 | 49 | 123.5 s 225 65| 92 |11.0( 24| 4.8 5.7
125 | 144 493 222 | 177 | —1| 149.6 ] 252 66| 95]11.0)25( 59| 7.1
150 | 170 250 | 203 175.6 280 | 66| 98 11.0[25| 7.4] 9.1
200 222 £2.4| 304 [ 256 221.8 334 | 671100 [12.0(25| 9.9] 12.3
200 | 274 £2.5| 360 | 309 2098 414 390 [ 68103 [12.0( 26 |13.4| 16.8
300 326 | £2.6 | 414 | 363 332.0 4441 701105 [12.5] 27 [16.7| 21.0
350 | 378 [ £2.7| 471 | 416 384.1 501 | 721108 [13.0] 28 [21.6 27.3
400 429 | £2.8| 524 | 468 | | 435.3 554 | 75110 (13.0] 28 [26.2 32.8
450 | 480 | £2.9| o7 520 =2 486.4 | £1.5| 608 | 79| 113 |13.5| 29 |31.8| 39.3
500 | 532 [ £3.0| 633 | 573 538.5 663 | 82| 115[14.0] 30 [38.4| 471
600 | 635 | £3.2| 743 | 678 641.8 116 773 | 90]120 |15.0( 32| 54.5] 65.1
7 738 | £34 | 862 | 783 745.0 892 | 97]125(16.0] 34 [73.5| 849
800 | 842 | £3.6| 957 | 889 849.3 17 991 [ 105|130 [17.0] 36 [ 85.4| 97.0
900 | 945 | £3.8 | 1061 [ 995 952.5 1095 | 112|135 [ 18.0| 38 [101.5| 113.4
1000|1048 | £4.0 | 1169 | 1100 +95 1055.8 1203 | 120 | 140 [ 19.0] 40 [122.6| 134.2
1100 | 1144 | £4.2] 1269 | 1198 1152.0 [£1.8 | 1303 | 127 [ 145 [ 20.0] 42 |139.4| 150.8
12001 1255 | £4.4 | 1384 | 1311 1263.3 1418 | 135 | 150 [ 21.0| 44 [168.4| 178.8
1400|1462 | £4.6 | 1609 | 1520 +o7 1471.0 [£2.0] 1646 | - [ 150 [21.0] 46| — | 2410
1600|1668 | £4.8 | 1822 | 1728 | | 1677.5 |£2.1| 1859 | — | 160 [21.0| 48| - | 3207
1800|1875 | £5.0 | 2038 | 1937 499 1884.5 [£2.2| 2075 | - [ 170 [21.0] 50| — | 419.1
2000( 2082 | £5.2 | 2251 | 2146 T12092.0 |£2.3] 2288 | - | 180 [21.0]| 52| - |530.8
2200) 2288 | £5.4 | 2467 | 2354 2299.0 [£2.4] 2504 | - [195]220| 54| — | 6782
2400 2495 | £5.6 | 2683 | 2563 | £3.1] 2506.0 |+£2.5| 2720 | — | 215[22.0| 56 | — |872.2
2600 2702 | £5.8 | 2899 | 2772 27035 [£2.6] 2936 | — | 240 [22.0] 58| — [1144.8
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